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What is the maximum number of Expressways that can be clustered?
 
 
A. 9 
B. 2 
C. 5 
D. 6 
 

Answer: D

 

 

Which is a method used by the Expressway for bandwidth control?
 
 
A. Zones 
B. Hunt Groups 
C. Subzones 
D. Regions 
 

Answer: C

 

 

Which is used in both CMR Premises and CMR Hybrid solutions?
 
 
A. Cisco CTS 
B. Cisco Conductor 
C. Cisco Meeting Server 
D. Cisco WebEx Meeting Center 
 

Answer: D

Question No : 64

Question No : 65

Question No : 66

Cisco 500-701 : Practice Test

23



Explanation:

https://www.cisco.com/assets/global/CZ/events/2015/ciscoconnect/pdf/TECH-COLL-

1_conferencing-ivsykora-jmartan.pdf  

 

 

 

 

Which conferencing solution is designed for messaging, meeting, calling and persistent
Sharing?
 
 
A. Cisco Meeting Server 
B. CMR 
C. TelePresence Server 
D. Spark 
 

Answer: D

 

 

Which product is required for scheduling a CMR Hybrid meeting?
 
 
A. TMSXE 
B. Any version of TMS 
C. TMS version 14.3 or later 
D. WebEx Scheduler App 
 

Answer: C

 

 

Which statement is true regarding endpoint registration authentication?
 
 
A. When a Subzone is set for "Treat as Authenticated", the endpoint is required to have the
correct authentications configured. 
B. Expressways and Endpoints do not need to be synchronized with identical NTP
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timestamps. 
C. Authentication credentials can be stored in the local database of the Expressway. 
D. SIP endpoints always need authentication credentials. 
 

Answer: C

 

 

Which conferencing solution is designed for highly scalable meetings, training and events?
 
 
A. Cisco Meeting Server 
B. Cisco WebEx 
C. Spark 
D. TelePresence Server 
 

Answer: B

Explanation: https://www.cisco.com/c/en/us/products/collateral/conferencing/webex-

meeting-center/datasheet-c78-734100.html 
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